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SOCIAL PROBLEMS IN INDIA
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( PART-A: Obijective )
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Choose the correct answer from the following: 1x20=20

1. Which of the following is not characteristic of social problem?

a. It has effect on a large section of a b. Develops gradually and slowly.
society

c. Generally regarded harmful for the d. All of the above.
society.

2. What is the full form of IRDP?

a. Integrated Rural Development b. Induced Rural Development
Programme Programme

c. Institutionalized Rural Development d. None of the above
Programme

3. Which is not a remedial measure for unemployment?
a. Education Reforms b. Political Reforms
¢. Population Control d. Five-Year Plans

4. The problems faced by the poor in India

a. Social discrimination b. Subculture of poverty
c. Housing d. All of the above
5. Dowry deaths, wife battering is an example of
a. Criminal violence b. Social violence
¢. Domestic violence d. All of the above

6. Dearth of resources is one of the major cause of
a. Ethnic conflicts b. Casteism
¢. Population explosion d. All of the above

7. Which of the following is a danger to democracy?

a. Poverty b. Illiteracy
c. Casteism d. All of the above
8. One of the most effective solution for casteism is
a. Strict law b. Education
c. Urbanisation d. Inter caste marriage

9. When was ‘Protection of women from Domestic Violence Act’ enacted?
a. 2001 b. 2002
c. 2004 d. 2005
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. Which of the following statements about crime and deviance is false?
a. The concept of 'deviance' is much b. Deviance and crime very often overlap
broader than 'crime'
c. The concept of deviance can be applied  d. Deviance is normally sanctioned by law
to individuals and groups

Density of population is very much related to
a. Economic condition b. Political system
c. Environmental study d. Climate
- Which is the social cause of juvenile delinquency?
a. Beggary b. Broken Homes
c. Poverty d. All of the above
. Which is the effect of over-population?
a. Shortage of food b. Low per capita income
c. Population and poverty d. All of the above
.- What are the causes of corruption?
a. Economic insecurity b. High rate of income tax
¢. System of democracy d. All of the above
- Which of the following statement is not correct about Raja Ram Mohan Roy?
a. Raja Ram Mohan Roy was born in a b. He died in India in 1833.
well-to-do family in Bengal, in 1772
c. He was given the title of Raja by the d. He started the newspaper named
Mughal Emperor. “Sambad Kaumudi”
. Which of the following is not a rural problem?
a. Communication b. Density of population
c. [lliteracy d. None of the above
. Which of the following does not very much influence the density of population?
a. Erosion b. Soil fertility
c. Rainfall d. Humidity
. Which of the following is not source of social problem?
a. Social change b. Poverty
¢. Personal development d. Personal disorganization
. Which of the following is not a poverty alleviation program
a. NREP b. PMRY
. JRY d. PMAY
. What is the cause of black money?
a. Inflation b. High rate of tax
c. Different rates of excise duty d. All of the above

[3] USTM/COE/R-01



[ PART-B : Descrigtive]
Time : 2 Hrs. 40 mins. Marks : 50

[ Answer question no.1 & any four (4) from the rest |

1. Is divorce a social problem or a symptom of it? Justify by 10
arguments.

2. Define Social Problem. Explain the characteristics and cause of 2+8=10
Social problem.

3. Explain in detail the problem of elderly people. 10

4. Discuss communalism and ethnic conflict as a threat to achieve 10
sustainable development in India.

5. Explain the perspective of BR Ambedkar and in addressing the 5+5=10
problem of inequalities of gender and caste.

6. Discuss the relation between politics and regional disparities and its 10
impact on inclusive development with particular reference to India.

7. Discuss how the different constitutional provisions help in 10
addressing different social problem in India.

8. Write short notes on: 5+5=10
a) Dowry
b) Environmental pollution
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